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1. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand

calculation results. l o0 20K
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2. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand

calculation results. R1 1k i 99
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3. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand
calculation results.
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Noise 5

Solutions
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1. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand
calculation results.
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2. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand

calculation results.
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3. Use simulation to determine the noise spectral density and total rms
noise for the circuit below. This circuit was solved by hand in the
problems from noise 4. Compare the simulated results to the hand

calculation results.
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